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5. A metal block that measures 3 ¢m on each side has 2 mass of 0.51 kg. What pure
substance is the cube made of? Refer to Table 3 on page 235 of the student textbook.

Formula i Data i Calculation
_m m=5]0g _ yo 2109
=" LV =E3x3x3)em? | = 27 am
= 37 3
i =eLem i p=189 g/cm*

Answer: It is made of gold,

6. Explain why a cork stopper loats on water. Refer to Tables 3 and 4 on page 235 ol the
student textbook.
With a density of 0.24 g/cm’, the cork stopper is fess dense than water, which has a density

of 1 g/mL or 1 g/cm?, As a result, the cork floats on water.

7. During a _,_x:r:.:: experiment, you are given two differently shaped solids that have
dilferent weights. You make the T,::?Sm measurements and observations:

Spherical Cylindrical
39508 59.25¢
ialivolume of the water L i
he graduated cy 30.0m 30.0m
solid) in the graduated cylinder 3s-0mL 37.5 mi

Are the two solids made of the same pure substance? Explain vour answer.

Formula | Data Calculation
- ol | Solid A: m=350g 39509 _
P=y m V =smi Sml oMt
| SolidB: m=5925¢g p= S0R5G 79 g/mL
Vezsmi | Z5mL
Answer: Yes, because the two solids have the same density. o
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Calculating Concentration

L. Determine the concentrations of the following solutions in g/l

a} 30 g of solute in 2.5 L ol solution b) 14 g ol solute in 250 mL of solution
=m 309 =149
v 25L 0251
Answer: 12g/L Apswer: S6g/L
2. Determine the concentrations ol the lollowing solutions in % m/v:
a) 1.5 g ol solute in 60 mL of solution b) 90 g of solute in 1.5
C (% mA) =M <100 € (% mM) =1 x 100
v
I.5gx 100 90 g x 100
60 mL 1500 mi
Answer; Z5%mAV Answer: 8% m/NV
3. Convert the following concentrations:
a) 27 mL/L into % ViV b) 18% m/V into g/L
27ml - x I8 g X
1000 mi o0 mL 100mL 1000 mt
o 2EMLXIBOML 5y oy 100 ML xuékuwmcm\;a&oah
1000 mL 100 mtL
Answer; 27% VNV Answer: 1809/
4. Calaulate the volume of the solute needed to obtain the tollowing solutions:
aj) 500 mL of solution at 15% m/V b) 35 mL of solution at 50 g/l
59 = x 509 = 3
1oomL 500 mL 1000 miL 35miL
15 g =500 mL 50gx35mL
*= "ooml *= oo mL
Answer: 75 g answer: 1759
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